Calculating Change Word Problems

Using the strategy from the video, find out how much change each

person has (mentally).

1. Lorna has 75p and she spends 34p on an apple. How much does

she have left?

2. Stephanie has 64p and she spends 15p on a ruler. How much does

she have left?

3. Mike has 45p and he spends 26p on a pack of grapes.How much

does he have left?

4. Joe has 84p and he spends 52p on a pack of crisps. How much

does he have left?

5. Mark has 77p and he spend 65p on a pack of pens.How much does

he have left?

6. Dayna has 33p and she spends 22p on a pack of grapes. How

much does she have left?



